B AR R TR
p ) BEASHAAEERES Ve

— AT EASERSVAFEMBRECRE

AERA : hiEs

KR




N\ EES M A
PR Y pee @ s

Challenge

A SN Z2RmBHMIIZ &

ETNENSRARFTERASREREMRA(ADAS) REHERERR
GERERZ.ME, ATUSBRAEREZEMBREFBREXLRI,
AMREHMN)RITHEZ 5 ARG,

BN, AXEZ[FERAERFTESHANAN, FEALUBENRASEAEEX
ER, RERATREERMAEE RFERQNZIENREHERS
R%Lo

test, BFERNEMRMHAMISA MR T LS —%, BEFEERITERE
REHERER,




B e © =2 (ADAS) W wit/aE
)10 panrummcns P wime

Solution

AT X FF3DAIRBER AR iR (E R

AR RMFERES AARC RS D EREM TR MIRE AR,
RRXRARESVEENZRDMA, EATERNMHERE, F3EFmMR,
AR, EXFSHBAAR,

£ 22 WENRI L BT T8 F 1= U 14 KR 3DRARTE RS, 0% — KHMIE R IHAI ST
IR Ui H BTk




@ RS MR UL RAHMIZ Rt R
AN IZT =
< FREEARE A AR (E RS e

A

X E

AR
@ snsrwmans

B, BN, BX. B AMEML CO@

SRR R EREB (B RRES
2FERAREMEENEYME, REESH BT On/Off4y, Ar[t NI E. o=, )
FEFTSHmEE, HE. e A R, £i5,
D =ann . T 5Bt (3D, BHRMES )
v
BH L FIRBHA Rtz : ZHZ RIS
B RS, ZMENRITE T4 IR 14 3DFLIKIE

FERRBEHSIE,
R AR T A A R R M S R AL s . BLEL. RIUTRMHUEE,




— AR I SR HI BBt -
@ HEAER ARG RIER W /e
BASE

feature

01 R L0 O swsnmmrme

MFEROImMmETERAEM, REMEIRAthAIRE,

FERK B=R
or

o

@ =AY snreumeemann @ B (3Dfk. RITEMER )

BERAYm IR ML iX 3 SSk5.6ppm, 85°C x288h BEZWERITRFEM. 3SDFRER. Mgt HRMUESE, AHTHEERIZIT
o0 n 1R,
S uEL
ﬁl’ 1200% |- —.—{gfﬁ o /
E:‘( - _ Gian RERRE MREREE
% I bR
400%
| ) — WA, MERERNFHITIE
0% v (k- &5, A WER)
0 200 400 600 800

inieE (h)




